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Things 2 Look 4
in ppt presentations

Title Slide
Introductory Information

Outline?


Did they familiarize themselves with the background material before performing 
the measurements?


Is the level of introductory material consistent with junior/senior undergraduate 
courses?  (i.e. some that’s had Mech II, EM II, or  QM I ?)
Data


Is something representing data present? Such as,



a simple table, a graph of experimental data, … 

(note that a graph of data is the same as supplying a table, usually)

Is their data OK, or should it have been retaken?


Do they have enough data points to draw a reliable conclusion?  One cannot fit a 
line through any less than about 4-6 points.  (Advanced philosophy: If you 
had 3 data points then Murphy’s Law says one is bad, so you assume 2 are 
good.  But by assuming 2 are good, Murphy’s Law says one of those is 
bad.    Perhaps the worst part is that with only 3 data points, you can’t 
even tell which is the first bad data point.)


Were they lazy when taking data?


Don’t say thinks which can be interpreted as:



We were lazy.



We didn’t take enough data.



We weren’t paying attention to what we were doing.



The data wasn’t any good, but we didn’t have enough sense to retake it.

Analysis


Figures should have axis labels with dimensional units.


Units should be in parenthesis. (keV)


Do not connect-the-dots on experimental data.  (use Scatter Plot instead)


Figures should “look nice”.


Although Excel defaults to this, graphs should have a white (or transparent) 

background and no gridlines unless there’s a good reason otherwise.


All measured quantities should be presented with uncertainties.


All numbers should be given with units.


Are the uncertainties realistic?


Is the format of the value and uncertainty correct?



Leading zeroes present?  0.987



Correct notation?



Number of digits past the decimal point should be the same.


When fitting data, did they use the LINEST function or just TRENDLINE?


The TRENDLINE function is useful to displaying the best fit line on the graph, 
but I would tend not to display the equation and r2 value on the graph 
unless there’s a good reason.


The correlation coefficient is “the variation in y that can be explained by use of 
the variable x”.  It’s a somewhat ill-defined quantity and is dependent 

upon the slope of the line.  Usually, what we really want to know is the 

slope (and its uncertainty).

What could they have done to make their analysis better?
Summary


Is the summary/conclusion slide present?

Is it a  complete summary of the whole presentation?


Is the numerical result (with uncertainty) given?


There should be no “excuses” for bad agreement.


Don’t go whining about the outcome after you’ve presented your results.  Don’t 
complain about the equipment.  It makes you look like you were too lazy 
to learn how to use the equipment well enough to take good data.


If a comparison is made to previously existing information (i.e. you know what 
you should have gotten), the only two statements allowed are:  “Results 
are consistent with previously published results” or “Results are not 
consistent with previously published results”.

General


Do the pictures and figures go with the measurements made?


Is the slide background design appropriate?


For pictures taken from the web, is credit given?


Are the slides too busy? – with too much information?

Too many words?


If you sat halfway back in the audience, could you read everything?


Are the pictures and figures a good size?


Are there any bad color combinations?



Colors that LCD projectors can’t display?



Colors too pale to see?



Red-on-Green or Green-on-Red ?


Does the word “error” appear anywhere?  If so, it’s gotta go.


Significant Figures: Unless there’s a reason to do otherwise, I usually choose 2 sig 
figs in the uncertainty and then write the main value appropriately.  
Example: write 2.64±0.15, not 2.642±0.15 and not 2.6±0.15.

There are two generally accepted ways to write values and uncertainties. 

Examples:

2.64±0.15   or    2.64(15)
(1.605±0.021) x 1019   or   1.605(21) x 1019
x
